EAST POINT SCHOOL
CLASS- IX
WORKSHEET- 1
CHAPTER- Why do we fall ilI?(BIOLOGY)

Choose the correct option.

1. Dengue is characterised by

a. Chills & fever

b. Swelling of legs

c. Headache & fever

d. Joint pains

2. In mosquito life cycle,two hosts are
a. Dog and cat

b. Mosquito and dog

¢. Man and mosquito

d. Mosquito and pig

3. A minor infection can change into a severe disease in case of
a. AIDS b. Diarrhoea

¢. Pneumonia

d. Cancer

4. Jaundice can be prevented by

a. Hepatitis-A vaccination

b. Painkillers

c. Eating good food

d. Wearing clean clothes

5. The target cells of HIV virus in body are
a. White blood cells

b. Red blood cells

c. Cardiac cells

d. Nerve cells



6. Which of the following can make you ill if you come in contact with an infectedperson
a. High blood pressure

b. Genetic abnormalities

. Sneezing

d. Blood cancer

7. Transmission of AIDS can happen through
a. Shaking hands

b. Hugging

c. Transfusion of infected blood

d. Playing soccer together

8. Which is a bacterial disease?

a. Diphtheria

b. Pneumonia

c. Tetanus

d. All of these

9. Ascariasis is caused by

a. Roundworm

b. Hookworm

c. Pinworms

d. Mosquitos

10. Which of these use the biochemical machinery of their host cells?
a. HIN1 virus

b. Protozoans

c. COVID-19

d.Botha &¢c

E. Higher order Think

YOU TUBE- https://youtu.be/yIMsCTYBQ2U



EAST POINT SCHOOL
CHEMISTRY
CLASS IX
ATOMS AND MOLECULES

1. State:

(a) Law of Conservation of mass

(b) Law of constant proportion

2. What do you mean by atomicity? What is the atomicity of ozone?

3. Write the Dalton’s Atomic Theory

Fill In The Blanks

1. During a chemical reaction, the sum of the of the reactants and products
remain unchanged.

2. Ina pure chemical compound, elements are always present in a proportion
by mass.

3. Clusters of atoms that act as an ion are called ions.

4. Inionic compounds, the charge on each ion is used to determine the of type
compound.

5. The abbreviation used for length names of elements are termed as their

6. A chemical formula is also known as a :

7. Those ions which are formed from single atoms are called

8. lonic compounds are formed by the combination between an

9. The valency ofanionis to the charge on the ion.

VIEO LINK:

How to write Chemical Formula for Compounds - Easy Method - CBSE Class 9



https://youtu.be/_t81Nl72Jj0
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Class: IX*" Subject: Social Science (Economics)

Chapter 3: Poverty as a Challenge

STUDY NOTES

Who are poor? In our daily life we come across many poor people such as landless labourers
in villages, people living in jhuggis, daily wage workers at construction sites, child labourers in
dhabas, rickshaw-pullers, domestic servants, cobblers, beggars, etc.

Meaning of Poverty: Usually the levels of income and consumption are used to define poverty.
In India, Poverty is a situation in which one is unable to get even the minimum basic
necessities of life such as food, clothing, and shelter for his or her sustenance.

The official definition of poverty, however, captures only a limited part of what poverty really
means to people.

It is about a "minimum" subsistence level of living rather than a "reasonable" level of living.
Many scholarsadvocate that we must broaden the concept into human poverty.

Social indicators of poverty / Dimensions of poverty: Now poverty is looked through other
indicators like illiteracy level, lack of access to health care, lack of job opportunities, lack of
access to safe drinking water, sanitation, etc.

Nowadays, the concept of social exclusion is becoming very common in the analysis of
poverty.

Social exclusion-living in bad conditions, surrounded by poor, does not enjoy social equality
with better-off people in good surroundings. For example, certain castes in India still not have
the basic facilities and equal opportunities.

Vulnerability to poverty is a measure describing a situation in which some sections of the
society such as people from the backward class, physically handicapped become or remain
poor in the coming years.

Assignment

1)
2)
3)
4)
5)
6)
7)
8)

9)

When a person is considered poor?

Who are poor in the rural areas?

Who are poor in the urban sector?

What is one of the biggest challenges of independent India?

What kinds of people in India are considered poor?

How would you define poverty? Or What are the dimensions of poverty?

What are the social indicators of poverty as seen by social scientists?

Social exclusion can be both a cause as well as consequence of poverty? Explain.

What is the vulnerability of poverty?How it is measured?

Video Link

https://www.youtube.com/watch?v=0zvxHSnngXg

https://www.youtube.com/watch?v=4vo6Q0beHyM

https://www.youtube.com/watch?v=E4wjP2sUUkY

https://www.youtube.com/watch?v=gHY 3asP-bp4



https://www.youtube.com/watch?v=OzvxHSnnqXg
https://www.youtube.com/watch?v=4vo6Q0beHyM
https://www.youtube.com/watch?v=E4wjP2sUUkY
https://www.youtube.com/watch?v=gHY3asP-bp4

https://www.youtube.com/watch?v=MUGQZU4nVoM

https://www.youtube.com/watch?v=HrlifY t8Xw

https://www.youtube.com/watch?v=V8xzWqXzky8

https://www.youtube.com/watch?v=08xam 3rMw8



https://www.youtube.com/watch?v=MUGQZU4nVoM
https://www.youtube.com/watch?v=Hr1ifY_t8Xw
https://www.youtube.com/watch?v=V8xzWqXzky8
https://www.youtube.com/watch?v=Q8xam_3rMw8

English Assignment

Class IX
Q1. Read the following passage carefully and answer the questions given below.

A research conducted by SATHI says that it is a misconception that children living on
platforms are abandoned or are wrecked from homes. In reality, most of the children are
those that flee from their homes without a thought and cannot retract their actions, either
because they have no money or are too frightened to go back. “We rescue 50 children daily
from the platforms across the country. Some of these children get lost even as their parents
search for them desperately,” said Anjali, project officer, SATHI.

Life on the platform is not easy. The longer a child lives on the platform, the more he falls
prey to addictions, abuse, petty thefts and odd jobs for survival. There is no place like home
for a child, therefore, in extreme cases of abuse and poverty the organization’s first course of
action is ‘home placement’.

As SATHI’s secretary Pramod Kulkarni says, ‘A child on the platform never grows up, he
just ages. Early intervention not only saves the child from the dangers of platform life but,
also makes repatriation easier as the child is more willing to go back home’. But it is not an
casy task. The organisation’s staff search the platforms across the country from morning till
night. Children are rescued from the platforms and are placed within the safe limits of the
SATHI shelters. They are counselled and those who are willing to go back home are taken to
their families as soon as possible.

Others who are reluctant to go back home are enrolled in “home orientation camps”. Love,
guidance and care provided, it paves the way for effective development of problem-solving
and social skills needed to build self-esteem and renew family ties. Children addicted to
substance abuse are sent to de-addiction camps.

Q. Answer the following questions:
1. What has the research conducted by SATHI revealed?
2. What does the phrase ‘Life on the platform is not easy’ mean?
3. What is the aim of the organization working for the welfare of these children?
4. Which is the most important step in saving the lives of children?

Q. Choose the correct alternatives:
1. Find the word from the passage which means the same as ‘exhausted’.
1. abandoned
2. wrecked
3. addicted
4. counselled
2. After the child is in the safe limits, how is he helped further?



counselled
home placement
home orientation camps
. rescued
3. The organization’s first course of action is
1. home orientation camps
2. home placement
3. SATHI shelters
4. None of the above
4. How are the addicted children helped?
1. counselled
2. SATHI shelters
3. de-addiction camps
4. taken to their families

PophE

Q2. Given below is an outline of the story given in the form of phrases. Fill in the blanks
to create the complete story.

Arichman ......... had many servants......... purse with lot of money is stolen from rich
man’s drawer......... rich man files a complaint in the police station ......... all the servants
called ......... stick of same length given to each ......... servants told that stick of the thief
will grow by one inch overnight ......... the thief cuts his stick by one inch ......... he is
easily caught the next day.

03.Following passage has not been edited. There is an error in each line. Write the
incorrect word and the correction.

The way you feel of yourself (1)
your self-esteem affected your (2)
happy level, and also can make (3)
life more and less stressful for (4)
you. For example, till you trust (5)
your ability to handle what came (6)
you will be more like to see (7)
difficult situations like the challenge (8)
instead of the threats.

Q5.1In each of the following sentences, the underlined verb may be inappropriately used.
Choose the correct form of the verb from the options.

1. | have scrutinising the area thoroughly. There is no mischievous thing here.
(a) scrutinise
(b) scrutinised
(c) was scrutinising
(d) was scrutinised

2. How does a butterfly gets its colour?
(a) got



(b) is getting
(c) getting
(d) get

. She thinking it would rather sound silly than
defensive.

(a) think

(b) thought

(c) was thought

(d) has been thinking

. This project has to work out very diligently.
(a) worked

(b) been worked

(c) is working

(d) working

. Asha Bhonsle was give life Time Achievement
Award in IFFA 2014 in Dubai.

(a) given

(b) gave

(c) been given

(d) giving

India winning the match against Pakistan by 76
runs.

(a) has winning

(b) had won

(c) won

(d) were winning

. Their flight may taking of at around half an hour, weather permitted.
(a) took

(b) take

(c) is taking

(d) was taken

. The entire audience bursting out in a hilarious laughter as she said the punchline.
(a) burst

(b) had burst

(c) is bursting

(d) were bursting
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Study Notes

Chapter 4 Climate

The Seasons

4 main seasons can be identified in India:

PR

The cold weather season (Winter)

The hot weather season (Summer)

The advancing monsoon (Rainy Season)

The retreating monsoon with some regional variations (Transition Season)

1.The Cold Weather Season (Winter)

The cold weather season begins from mid-November and stays till February in Northern parts of India
with December and January as the coldest months

. The temperature decreases from South to North.

For instance, the average temperature of Chennai, on the Eastern coast, is between 24°—25°C while in
Northern plains, it ranges between 10°—15°C.

During this season, days are warm and nights are cold. Frost occurs in the Northern plains and snow
falls in the high mountainous regions of Himalayas.

As the North-East trade winds blow during this period, most of the country remains dry as they blow
from land towards sea.

The only rain occurs in Tamil Nadu and Southern Andhra Pradesh due to these winds picking up
moisture from the Bay of Bengal.

This season is extremely important for the cultivation of ‘rabi’ crops.

2 The Hot Weather Season (Summer)

The hot weather season starts with the apparent movement of the sun towards the North. It leads to the
Northward movement of global heat belt. The hot weather season starts in March and lasts upto the end of May.

Features of Hot Weather Season
The temperature of the Northern part of India goes up and the atmospheric pressure comes down.

The summer months experience rising temperature and falling air pressure.

Towards the end of May, an elongated low-pressure area develops in the region extending from Thar
Desert in North-West to Patna and Chotanagpur plateau in the East and South-East. This results into
beginning of air circulation around this trough.



e Ahot gusty and dry wind, locally known as Loo, blows . during this season over the North and North-
Western India and can cause even death if persons are exposed to it for a long time.

e Dust storms are very common in North India in the month of May. They bring temporary relief from the
heat by lowering the temperature and may also cause light rain and cold breeze.

e Localised thunderstorms also occur during summer, which may have high speed winds and even
precipitate hail. Such thunderstorms are called Kaal Baisakhi in West Bengal. Near the end of summer,
there may be pre-monsoon showers. These are called Mango Showers in Kerala and Karnataka, as
they help in the early ripening of the mango fruit.

Temperature Variation During Hot Weather
e The influence of the shifting of heat belt can be seen from temperature recordings taken during
March to May at different latitudes.
° In March, the highest temperature is about 38°C, recorded in Deccan Plateau. Temperature in
Gujarat and Madhya Pradesh is around 42°C in the month of April.
e In May, North-Western parts of the country experience temperature around 45°.
° Due to moderating influence of the oceans, temperature remains lower in peninsular India.

3. Advancing Monsoon (The Rainy Season)

e The low-pressure area over the Northern plains intensifies by mid-June and attracts the trade
winds. These trade winds originate over the warm tropical ocean in the Southern hemisphere.
After crossing equator, these blow in the South-West direction entering peninsula as South-West
monsoon. They cover the entire subcontinent except extreme North-West in just over one month.

e  Maximum rainfall due to these winds occurs in North-Eastern India (mainly Meghalaya and
Assam) and the windward side of the Western Ghats (Thiruvananthapuram to Mumbai) as these
winds bring abundant moisture to the sub-continent at a velocity of 30 kmph.

Rainfall in the Western Ghats and Deccan Plateau

. A total change in weather is brought up in India by the inflow of the South-West
monsoon in India.

° The windward side of the Western Ghats receives very heavy rainfall, more than 250 cm
in the early season.

o Inspite lying in the rain shadow area, the Deccan Plateau and parts of Madhya Pradesh
also receive some amount of rainfall.

Areas of Maximum and Least Rainfal
e  The maximum rainfall of this season is received by the North-Eastern part of the country.

e  The highest average rainfall in the world falls at Mawsynram in the Southern ranges of
the Khasi hills in Meghalaya.

e Inthe Northern plains precipitation decreases from East to West, with Western parts of
Rajasthan and Northern parts of Gujarat getting the least rainfall.

e Features of Advancing Monsoon



e Wet and Dry Spells Monsoon in India does not bring continuous rainfall. It has wet and
dry spells i.e. ‘breaks’ in rainfall. These breaks in monsoon are related to the movement
of monsoon trough.

° The axis of the monsoon trough in the Northern plains keeps moving North to South and
back, causing periodic breaks in rainfall. Due to this, it has wet and dry spells.

e  Monsoon Trough and its axis keep on moving Northward or Southward which determines
the spatial distribution of rainfall. When the axis of the trough lies over the plains, the
region gets good rainfall. With the Northward movement of axis, the Himalayan region
gets widespread rain which is the catchment area of various rivers. This causes
devastating floods in the plains causing heavy damage to life and property.

e  Tropical Depression Another phenomenon, which determines amount and duration of the
monsoon, is the frequency and intensity of tropical depression which form at the head of
the Bay of Bengal and cross over to mainland. These depressions follow the axis of the
‘monsoon trough of low pressure’.

4. Retreating/Post Monsoon Season (The Transition Season)

e The sun starts shifting towards the South during October-November. During this time, the
low pressure trough over the Northern plains weakens and is replaced gradually by a
high-pressure system. This is followed by the South-West monsoon winds.

e By the beginning of October, the monsoon withdraws from the Northern plains. The
months of October-November form a transition period from hot rainy to dry winter
conditions.

Features of Retreating Monsoon
The characteristic features of retreating monsoon are

e The period is marked by clear skies and rise in temperature.
e The day temperatures are high but nights are cool and pleasant.

e Due to the temperature still remaining high and humidity not reducing, the heat is
oppressive. This phenomenon is also called October heat.

VIDEO LINK:

https://www.youtube.com/watch?v=AvBhXNIvIQc&feature=youtu.be

https://www.youtube.com/watch?v=cStq2ypccyc&feature=youtu.be

https://www.youtube.com/watch?v=ZQSzzh0gX0Q&feature=youtu.be



https://www.youtube.com/watch?v=AvBhXNIvIQc&feature=youtu.be
https://www.youtube.com/watch?v=cStq2ypccyc&feature=youtu.be
https://www.youtube.com/watch?v=ZQSzzh0gX0Q&feature=youtu.be

ASSIGNMENT
VERY SHORT ANSWER TYPE QUESTIONS (1 Mark)

1. Which is the coldest place of India?

2. In which months does the Tamil Nadu coast get maximum rainfall?

3. When and Where does the monsoon arrive in India.

4. What are the thunderstorms called in the West Bengal

5. The weather of which parts of India is influenced by western cyclonic disturbances?
6. Which area receives the highest rainfall in the world?

7. What is the period of Transition?

8. What is known as’ October heat'?

9. In which season does the heat belt shift northwards?

10. Which is the influence area of the monsoon?

SHORT ANSWER TYPE QUESTIONS (3 Marks)

1. When does withdrawal of the monsoon take place in different parts of the country?

2. Write a short note on ‘loo’ and ‘dust storms’.

LONG ANSWER TYPE QUESTIONS (5 Marks)

1. Describe the main features of the advancing monsoon under the following heads:
a. Duration
b. Pressure condition
c. Prevailing Winds
d. Rainfall

2. How do pressure and surface winds affect the climativ conditions of a particular place? What other
factors contribute to it?



ACTIVITY:

Identify the following cities marked on the given political map of India.
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LESSON PLAN (October)
Subject-History
Sub teacher-Poonam Pathak

Topic-Chapter 3-Nazism and the Rise of Hitler

Sub Topic 2:The Years of Depression
Hitler’s Rise to Power

Learning Objectives:-To make children aware about the Nazism and what were
the circumstances for the rise of the Nazism.

Methodology:-PPT, Video and word file

You tube link:-https://www.youtube.com/watch?v=CeBYUvVIVUAY

Activity 1:-Make a PPT on the topic ‘Nazism and the rise of the Hitler"

The Years of Depression

1924-1928 saw some stability, yet it was built on sand. In 1924, with the introduction of the Dawes Plan
by the Americans, Germany came out from the financial instability. Germany was totally dependent on
short-term loans, largely from the USA. This support was withdrawn with the crash in 1929 of the Wall
Street Exchange. The German economy was hit badly. The middle class and working population were
filled with the fear of proletarianization.

The Weimer Republic had some inherent defects:

o

Proportional Representation
2. Article 48 which gave the President the powers to impose emergency, suspend civil rights and rule by decree.

Hitler’s Rise to Power

https://www.thoughtco.com/hitlers-rise-to-power-timeline-1221353 (FOR EXTRA INFORMATION AND
FLOW CHART)



https://www.youtube.com/watch?v=CeBYUvlVuAY
https://www.thoughtco.com/hitlers-rise-to-power-timeline-1221353

Hitler was born in Austria in 1889. He earned many medals for bravery in the First World War.
The German defeat horrified him. The Treaty of Versailles made him furious.

He joined the German Workers Party and renamed it National Socialist German Workers’ Party. This later
came to be known as the Nazi Party.

Nazism became a mass movement only during the Great Depression. The Nazi propaganda stirred hopes
of a better future. Hitler was a powerful and effective speaker. He promised the people a strong nation

where all would get employment.

Assignment:-
1. Describe the causes behind the rise of Hitler.

2. Write a short note on The Years of Depression?






MATHEMATICS
CHAPTER-8 QUADRILATERAL

Quadrilaterals

Any four points in a plane, of which three are non-collinear are joined in order results into a four-
sided closed figure called ‘quadrilateral’

D
C

A

Quadrilateral

Angle sum property of a quadrilateral



Angle sum property — Sum of angles in a quadrilateral is 360

In AADC,

£1+22+,4=180 (Angle sum property of triangle)................ (1
In AABC,

£3+25+,6=180 (Angle sum property of triangle).................. (2)
1)+ (2):

21+22+2£3+24+25+26=360
l.e, zZA+2B+2C+2D=360

Hence proved

Types of Quadrilaterals

Trapezium

A trapezium is a quadrilateral with any one pair of opposite sides parallel.



P

Trapezium

PQRS is a trapezium in which PQJ||RS

Parallelogram

A parallelogram is a quadrilateral, with both pair of opposite sides parallel and equal. In a
parallelogram, diagonals bisect each other.



A B

Parallelogram ABCD
Parallelogram ABCD in which AB||CD,BC||AD and AB=CD,BC=AD

Rhombus

Arhombus is a parallelogram with all sides equal. In a rhombus, diagonals bisect each other
perpendicularly



A

Rhombus ABCD
A rhombus ABCD in which AB=BC=CD=AD and AC1BD

Rectangle

A rectangle is a parallelogram with all angles as right angles.



A

Rectangle ABCD
A rectangle ABCD in which, 2A=£B=2C=2D=900

Square

A square is a special case of a parallelogram with all angles as right angles and all sides equal.



Square ABCD
A square ABCD in which £A=2B=£C=£D=900 and AB=BC=CD=AD

Kite

A Kite is a quadrilateral with adjacent sides equal.



A

Kite ABCD
A kite ABCD in which AB=BC and AD=CD

Parallelogram: Opposite sides of a parallelogram are equal



A

In AABC and ACDA

AC=AC [Common / transversal]
£BCA=¢£DAC [alternate angles]
£BAC=¢£DCA [alternate angles]
AABC=ACDA [ASA rule]

Hence,

AB=DC and AD=BC [ C.P.C.T.C]

Opposite angles in a parallelogram are equal



In parallelogram ABCD

ABIICD; and AC is the transversal
Hence, £1=£3....(1) (alternate interior angles)
BCIDA; and AC is the transversal
Hence, £2=24....(2) (alternate interior angles)

Adding (1) and (2)
21+£2=,3+24
£BAD=£BCD

Similarly,
2ADC=£ABC

Properties of diagonal of a parallelogram

— Diagonals of a parallelogram bisect each other.



A

In AAOB and ACOD,

£23=£5 [alternate interior angles]
¢21=,2 [vertically opposite angles]
AB=CD [opp. Sides of parallelogram]
AAOB=ACOD [AAS rule]

OB=0D and OA=0C [C.P.C.T]
Hence, proved

Conversely,
— If the diagonals of a quadrilateral bisect each other, then it is a parallelogram.

— Diagonal of a parallelogram divides it into two congruent triangles.



A

In AABC and ACDA,

AB=CD [Opposite sides of parallelogram]
BC=AD [Opposite sides of parallelogram]
AC=AC [Common side]

AABC=ACDA [by SSS rule]

Hence, proved.

Diagonals of a rhombus bisect each other at right angles

Diagonals of a rhombus bisect each — other at right angles



A B

In AAOD and ACOD,

OA=0C [Diagonals of parallelogram bisect each other]
OD=0D [Common side]

AD=CD [Adjacent sides of a rhombus]

AAOD=ACOD [SSS rule]

£AOD=¢£DOC [C.P.C.T]

£AOD+2£D0OC=180 [+ AOC is a straight line]

Hence, ZAOD=2D0OC=90

Hence proved.

Diagonals of a rectangle bisect each other and are equal



"U
No

Z
Rectangle ABCD
In AABC and ABAD,

AB=BA [Common side]

BC=AD [Opposite sides of a rectangle]
2£ABC=¢£BAD [Each =900 * ABCD is a Rectangle]
AABC=ABAD [SAS rule]

~AC=BD [C.P.C.T]

Consider AOAD and AOCB,

AD=CB [Opposite sides of a rectangle]

20OAD=£0CB [+ AD||BC and transversal AC intersects them]
20ODA=£0BC [+ AD||BC and transversal BD intersects them]
AOAD=AOCB [ASA rule]

~OA=0C [C.P.C.T]

Similarly we can prove OB=0D

Diagonals of a square bisect each other at right angles and
are equal
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Square ABCD

In AABC and ABAD,

AB=BA [Common side]

BC=AD [Opposite sides of a Square]
2£ABC=¢£BAD [Each =900 * ABCD is a Square]
AABC=ABAD [SAS rule]

~AC=BD [C.P.C.T]

Consider AOAD and AOCB,

AD=CB [Opposite sides of a Square]

20OAD=£0CB [+ AD||BC and transversal AC intersects them]
20ODA=£0BC [+ AD||BC and transversal BD intersects them]
AOAD=AOCB [ASA rule]

~OA=0C [C.P.C.T]

Similarly we can prove OB=0D

In AOBA and AODA,

OB=0D [ proved above]



BA=DA [Sides of a Square]

OA=0A [ Common side]
AOBA=AQODA, [ SSSrule]
~2AOB=2A0D [C.P.C.T]

But, ZAOB+2A0D=1800 [ Linear pair]
~£AOB=2A0D=900

Important results related to parallelograms

Parallelogram ABCD

Opposite sides of a parallelogram are parallel and equal.

ABJ|CD,AD||BC,AB=CD,AD=BC

Opposite angles of a parallelogram are equal adjacent angels are supplementary.

/A=2C,2B=4£D,

2A+2B=1800,£B+2C=1800,2£C+2D=1800,2£D+2A=1800

A diagonal of parallelogram divides it into two congruent triangles.

AABC=ACDA [With respect to AC as diagonal]
AADB=ACBD [With respect to BD as diagonal]



The diagonals of a parallelogram bisect each other.

AE=CE,BE=DE

21=/5 (alternate interior angles)
+22=,6 (alternate interior angles)
23=+7 (alternate interior angles)
¢24=,8 (alternate interior angles)
29=2£11 (vertically opp. angles)

2£10=£12 (vertically opp. angles)

The Mid-Point Theorem

The line segment joining the midpoints of two sides of a triangle is parallel to the third side
and is half of the third side

A

B C

In AABC, E — the midpoint of AB; F — the midpoint of AC
Construction: Produce EF to D such that EF=DF.
In AAEF and ACDF,

AF=CF [ F is the midpoint of AC]



ZAFE=/£CFD [V.0.A]
EF=DF [ Construction]
~AAEF=ACDF [SAS rule]

Hence,

£LEAF=£DCF....(1)

DC=EA=EB [ E is the midpoint of AB]
DCIEAIAB [Since, (1), alternate interior angles]
DCIEB

So EBCD is a parallelogram

Therefore, BC=ED and BCIED

Since, ED=EF+FD=2EF=BC [ ~ EF=FD]

We have,EF=12BC and EF||BC

Hence proved



EAST POINT SCHOOL
CLASS IX SUBJECT- PHYSICS

CHAPTER- GRAVITATION (WORKSHEET)
Link-https://youtu.be/5y2JUQw_RAg

1. The mass of moon is about 0.012 times that of the earth and its diameter is about 0.25 times
that of earth. The value of G on the moon will be:

(a) Same as that on the earth

(b) About one-fifth of that on the earth

(c) About one-sixth of that on the earth

(d) About one-fourth of that on the earth

Answer: (a) Same as that on the earth

2. An apple falls from a tree because of the gravitational attraction between the earth and the
apple. If F1 is the magnitude of the force exerted by the earth on the apple and F2 is the
magnitude of the force exerted by the apple on the earth, then

() F1 is very much greater than F2

(b) F2 is very much greater than F1

(c) F1 and F2 are equal

(d) F1 is only a little greater than F2

Answer: (c) F1 and F2 are equal

3. The earth and the moon are attracted to each other by gravitational force. The earth attracts the
moon with a force that is:

(a) More than that exerted by the moon

(b) Same as that exerted by the moon

(c) Less than that exerted by the moon

(d) Not related to that exerted by the moon



Answer: (b) Same as that exerted by the moon

4. A stone is released from the top of a tower of height 19.6 m. Then its final velocity just before
touching the ground will be:

(a) 384.16 m/ s

(b) 196 m/s
(c) 19.6 m/s
(d) 3841.4 m/s

(Take g = 9.8 m/s?)

Answer: (c) 19.6 m/s

5. When a piece of cork is put into the water it starts floating on the surface of water due to the
upward buoyant force from water.

If the cork is pushed more inside the water by applying the force than the buoyant force:

(a) Will increase as the cork is immersed into the water

(b) Will decrease as the cork is immersed into the water

(c) Will first increase and then decrease as the cork is immersed more into the water

(d) Will remain the same as long as the cork is inside the water

Answer: (a) Will increase as the cork is immersed into the water



6. A rectangular wooden block has the length, breadth and height of 40 cm, 35 cmand 10 cm,
respectively. This wooden block is kept on ground in three different ways, turn by turn.

H G
|
|
D C
a
Ae ¢ > B/

Cubord

Which of the following is the correct statement about the pressure exerted by this block on the
ground?

(a) The maximum pressure is exerted when the length and breadth form the base
(b) The maximum pressure is exerted when the length and height form the base
(c) The maximum pressure is exerted when the breadth and height form the base
(d) The maximum pressure is exerted when the length and height form the base

Answer: (c) The maximum pressure is exerted when the breadth and height form the base
7. Two particles are placed at some distance. If the mass of each of the two particles is doubled,
keeping the distance between them unchanged, the value of gravitational force between them
will be:

(a) 1/4 times

(b) 4 times
(c) 1/2 times
(d) Unchanged

Answer: (b) 4 times



8. A boy is whirling a stone tied with a string in a horizontal circular path as shown in the
following figure:

—

If the string breaks the stone:

(a) Will move along a straight line towards the centre of the circular path

(b) Will move along a straight line the tangential to the circular path

(c) Will move along a straight line perpendicular to the circular path away from the boy
(d) Will continue to move in the circular path

Answer: (b) Will move along a straight line the tangential to the circular path
9. Following table represents the mass and volume data of the three liquids named A, B, C and
D. Can you find which two liquids are identical?

Liquid Mass (in g) Volume (in cm?®)
A 80 100
B 100 100
C 80 80
D 100 80
@ Aand C

(b)yBand C



(c)Aand D
(dBand D

Answer: (b) Band C

10. A ball weighing 4 kg of density 4000 kgm is completely immersed in water of
density10® kgm. What will be the buoyant force acting on it?

(a) 100 N

(b) 10 N
(c) 1600N
(d) 16 N

Answer: (b) 10 N
11. Choose the correct unit for the relative density among the following:
() kg/cm

(b) unitless
(c) kg/cm

(d) kg/m?

Answer: (b) unitless

12. An object having mass equal to 350 g occupies 200 cm?® of the space. When this object is
thrown into a river what will be the condition of this object there? (Density of water = 1 g/ cm?®)
(@) 1t will float on the surface of water

(b) It will float fully submerged in the liquid
(c) It will sink in the liquid
(d) It will float partially submerged in the liquid

Answer: (c) It will sink in the liquid



13. An object is put in three liquids having different densities, one by one. The object floats with
1/9, 2/11 and 3/7 parts of its volume outside the surface of liquids of densities d1, d2 and d3
respectively. Which of the following is the correct order of the densities of three liquids?

(@) d1>d2 >d3

(b) d2 > d3 > d1

(c) d1<d2<d3

(d)d3>d2>d1

Answer: (c) d1<d2<d3

14. The school bags are generally provided with the broad strips because:

(a) 1t will spread the force of the bag over the large area of the shoulder of the child producing
large pressure

(b) It will spread the force of the bag over the large area of the shoulder of the child producing
less pressure

(c) It has become a trend among the students to carry the bags with wide strips

(d) It will spread the force of the bag over the small area of the shoulder of the child producing
less pressure

Answer: (b) It will spread the force of the bag over the large area of the shoulder of the
child producing less pressure

15. Two objects of different masses falling freely near the surface of moon would:

(a) Have different accelerations

(b) Undergo a change in their inertia

(c) Have same velocities at any instant

(d) Experience forces of same magnitude

Answer: (c) Have same velocities at any instant



POLITICAL SCIENCE

Q1 Define institutions.

Q2 Explain the need of institutions.

Q3 What was the office memorandum of 1990?

Q4 Describe the Mandal commission.

Q5 Explain the functions of Parliament.

Q6 Differentiate between two houses of Parliament.
https://youtu.be/yXmK2vZsFEk



https://youtu.be/yXmK2vZsFEk

SANSKRIT WEEK 18

VIDEO LINK: https://youtu.be/B2gJH4gpCzI



https://youtu.be/B2gJH4qpCzI
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